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1. EERITIK

X 4 PUTHH A UHAHEER REER mE
i £ PRITHEILA2TH 109,293 80,678 73.82%
M =& W B ERITHEILH2TH 109,293 80,680 73.82%
i £ RIS 4 16H 108,645 35,963 33.10%
= E B F ERRI94E 4H 8H 108,995 61,399 56.33%
= ®E OB B = @ B CFEk19fE 48 8H 108,995 61,337 56.28%
Z b B (22 X)) ER9F TH29H 109,568 65,149 59.46%
bt B (e f X ) ERKI9E TH29H 109,568 65,149 59.46%
Kb B (X)) FRk214 8H30H 109,072 79,563 72.95%
Kimbiak B (IR E) Frk214 8H30H 109,072 79,552 72.94%
i £ FR214E11H 151 108,288 72,433 66.89%
M =& W B ER21F11HI15H 108,288 72,437 66.89%
Z b B (%2 X)) PR TH11H 108,917 65,209 59.87%
Z bt B (W fl X)) Epk22fdE THILLH 108,917 65,209 59.87%
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2. BERAEZANLEZREN
PEX A m 4 5 53 7 BEX A, w4 5 53 7
R & fiF i) 91 116 207 — 2 A 3 T H 246 336 582
F W 4 E K 0 53 59 112 e . Z K 4 T B 241 262 503
F B O oz 4o 66 83 149 ﬁ% — 2 K 5 T H 356 410 766
FWw W B 1T H 202 229 431 N &t 1,079 1,273 2,352
#® & Fw M HE 2T H 179 215 394 W % 2 T H 455 511 966
FWw WM WE 3T H 466 565 1,031 BEAge 0w % 3 T H 214 264 478
kS BT AL S D — 11 11 22 /h B 669 775 1,444
oA BT > — 83 75 158 ZN 168 213 381
/8 2 1,151 1,353 2,504 = % 1 T H 105 135 240
=Y F R 45 E F® N 27 27 54 — & iy 83 92 175
(3 N W7 419 510 929 J\ B i ¥ E 175 210 385
HH Z BT 236 289 525 XK o & 1 T H 69 75 144
s ROk BT RS O B 317 337 654 JEAEFE3I kK H# & 2 T H 101 137 238
- ook BT o — 5 162 185 347 K {3 3 T H 137 161 298
Wi B WY o> — 5 146 155 301 X # F 4 T H 218 254 472
7N B 1,280 1,476 2,756 B % 1 T B 187 243 430
iy i BT 283 374 657 B 2 T H 193 244 437
UN LR = HT 57 73 130 N &t 1,436 1,764 3,200
7% WY 291 379 670 W W 1 T H 172 219 391
EiEF2 (M EHAEARIT O~ 26 30 56 = E 2 T H 103 133 236
B} m H o — ¥ 657 723 1,380 e A HT 114 129 243
oW OET o — 208 244 452 W% 1 T H 258 329 587
78 2 1,522 1,823 3,345 W% 2 T H 178 221 399
B = HT 210 268 478 2o % % 3 T H 183 200 383
M A 1 T H 259 271 530 T ] T 2 3 5
mooA 2 T H 307 388 695 W oB 1 T H 125 166 291
(51 M A< 3 T H 250 304 554 m n 2 T B 173 209 382
B JII i) 36 44 80 W 9o 3 T H 165 212 377
B M BT 813 960 1,773 7N & 1,473 1,821 3,294
BOR OE o — 94 105 199 W oo 4 T H 478 554 1,032
/I8 2 1,969 2,340 4,309 — & 1 T H 190 231 421
e sl iy 5 7 12 — & 2 T H 76 96 172
= W1 T H 248 338 586 B - % 3 T H 168 235 403
= W o2 T H 124 183 307 i - % 4 T H 71 70 141
HmEe &= W 3 T H 150 171 321 i+t A B 1 T H 179 215 394
w k1 T B 134 169 303 i+ A ¥ 2 T H 180 197 377
w k2 T H 337 491 828 I it 1,342 1,598 2,940
7N 7t 998 1,359 2,357 BB 1 T H 193 228 421
mow 1 T B 184 237 421 BB 2 T B 308 350 658
R ﬁq w 2 T B 308 369 677 e m Il 1 T H 219 264 483
W 3 T H 225 275 500 = JII 2 T H 138 190 328
/I8 =t 717 881 1,598 N &t 858 1,032 1,890
w1 T H 573 700 1,273 - [ i) 80 193 273
AREF2 M .o 2 T H 510 600 1,110 it UN ] BT 207 243 450
AN it 1,083 1,300 2,383 e i+ A ¥ 3 T H 390 413 803
W 9L 3 T B 462 560 1,022 RS oo oo — 3 6 9
AREHES M L 4 T B 692 764 1,456 “HEA4TH O 28 28 56
7 2t 1,154 1,324 2,478 7N B 708 883 1,591
EAEL i; jz ; g: E }3? }32 3;? FooE 17,466 21,029 | 38,495
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(RIR—=T NS DHEE) SER224E12 A 2 A BIAE
IR A4, m 4 5 5 g BEEX A4, m 4 5 5 7t
i #: W 594 547| 1,141 WAFS B T iy 36 47 83
(@ r my 332 399 731 HAEL | & Fr my 41 53 94
FUL S % ;I; E ?ir‘; ;22 1,2?613 X EFCEPATRTERS) 19,216 21,176 40,392
T g WT| 538 578 1,116 — W OHT & F 213 210 423
N B 2,490 2,635 5,125 T RAE1 " 9T 192 199 391
AN PN S BT 1,436 1,612 3,048 N 7 405 409 814
Mo A & AR H 361 384 745 TR o — #5633 686 1,319
M A 1 T H 112 118 230 R R oW 4 — f 515 601 1,116
oA 2 T H 111 130, 241 /I i 1,148 1,287 2,435
R L M A 3 T H 107 124 231 - WOHT KRB 297 363 660
. M A 4 T H 126 143 269 - R OET = O 296 340 636
# A 5 T H 156 188 344 ~ R3 Z Rl E R o — 5 22 19 41
A 6 1T A 93 9 gl VM = m Er fF 490 551 1,041
/I #t 1,066 1,182 2,248 — W OHT W o — B 18 18 36
B b W] 754 833 1,587 /I 7t 1,123 1,291 2,414
D) 1 W 417 505 922 CRETEEO— 171 213 384
a H . Wy 348 367 715 N IR 341 413 754
4N 7 1,519 1,705 3,224 TR ORI o — i 59 57 116
ERE3 — =) W7 495 585 1,080 Z ROET Sk o 0 304 327 631
R kE: mf 963 1,050 2,013 N i 875 1,010/ 1,885
AR g m g ;gg ;22 igg ZOR M A X P B 3,551 3,997 7,548
/N 2 1,327 1,462 2,789 AN fROET HOHT 71T 855 1,572
AN B my. 356 405 761 /MREE1 N RETRET O — E 1,062 1,180 2,242
B 1z IN BT 207 240 447 /I 7t 1,779 2,035 3,814
A Il myo 269 315 584 /MRE2 /N {R W] & W] 1,556 1,765 3,321
/I B 832 960 1,792 R IT A A O — 435 455 890
(i o plis Wy 969 1,057 2,026 /IMRE3 /N RET AR O —F 506 573 1,079
il 1L my 69 78 147 h i 941 1,028 1,969
HOREE1l B m7 281 323 604 NRHETFH A O — E 181 205 386
ROE kAT o — 2 1 3 JNAR BT B B o> — EB) 481 333 814
/I z 1,321 1,459 2,780 AN fR BT % M) 758 824 1,582
B o i BT 741 804 1,545 N AR W F A 217 233 450
R i i w127 152|279 AN R AT A — [ 2 3 5
- OB BT O — i 1 1 2 AN R BT BT R AT 7 7 14
/N Z 869 957 1,826 AR OET B R AN 10 10 20
ksl | F T m7 592 667 1,259 h it 1,656 1,615 3,271
A i BT 9200 1,014 1,934 i A iy 58 78 136
e R R JE BT o — 37 44 81 /MERHES  /NRET BB o — f8 1,474 1,550 3,024
N i 957 1,058 2,015 /N it 1,532 1,628 3,160
i KVE M 5591 603 LI e e A % B RF(EPHEIAT) 7,464 8,071 15,535
I3 HP 233 243 476 - -
ok om0 — 62 66 128|  FHEEES1  fE B AT oA O — B 738) 858 1,596
N F 854 912 1,766|  fHREHEZ2 A pg HT g Al o0 — B 593) 665 1,258
WHEL |k Hh BT 1,095 1,126 2,221 o R R O®B 637 729 1,366
5 g BT 341 398 739 MHIEEEE3 4 moE & 315 364 679
2l A m7 583 643 1,226 74N i 952 1,093 2,045
WHE2 I i BT 208 241 449 o OB 446 494 940
b oM BT oo — #5228 237 465 P oo mr ko f& 383 425 808
7N 2 1,360 1,519 2,879 MEA o N BK 237 276 513
2l ) mr 263 321 584 74N B 1,066 1,195 2,261
U1 iﬁ = i & :; 7;? ?gg l’ggg C I N 3,349 3,811 7,160
7N H 1,076 1,257 2,333
DUk R HE B[ 576 642 1,218
PUSREES i M 493 523 1,016
AAE1L E e mr 492 530 1,022
M JEE |y 237 225 462
AARFE2 5] my 52 60 112 woAa 3 51,046 | 58,084 109,130
/N i 289 285 574
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